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Guess Paper – 2010
Class – X
Subject – Mathematics
 Time: 1 hr 15 min                    
 Max marks: 40

1. Find the common difference & first number of A.P.  √6, √24, √54…..                                      1
2. Find the largest number of 3 digits which is divisible by 12&16.                                               1
3. If the sum of zeroes of polynomial (a+1) x2+ (2a+3) x+ (3a+4) is -1.find product of zeroes.    1
4. What is exponent of 2 in prime factorization of 864?                                                                  1
5. [image: image1.png]                   A                       In ∆ ABC DE║ BC   AD  =   2
                                                                                      DB       3                                                        1
                 D                 E                 Find         area ( trap.DECB)
                                                                            area (∆.ABC)
         B                                C
6. If x & y are odd positive integers .prove x2+y2 is even but not divisible by 4.                               2
7. Solve for x if 25+22+19+…. +x =116.                                                                                           3
8. The centre of circle is (2x-1, 3x+1). Find x.  If the circle passes through (-3,-1) & length of diameter is 20 unit.                                                                                                                                          3
9. The sum of two digit number & the number formed by interchanging the digit is 110.if 10 is subtracted from first number, the new number is 4 more than 5 times the sum of digits .Find the first number.                                                                                                                                             3
10. The line joining the points (2,1) & (5,-6) is trisected at P& Q. If point P lies on the line 2x-y+k=0, find value of k.                                                                                                                                  3
11. When x3+2x2+4x+b is divided by x+1 the quotient is x2+ax+3 & reminder is -3+2b , find value of a & b.                                                                                                                                                    3
12. Solve the following system of equation                                                                                            6    

                                  2   +   2    ==   1   &     3    +   2   ==  0

                                  x        3y        6          x         y

           & hence find a if y = ax-4    
13. Prove that, in a right ∆, the square on the hypotenuse is equal to the sum of squares of other two sides. Using above theorem, in a right ∆ABC, ( C=90•, D is mid point of BC, prove that AB2 = 4AD2-3AC2.                                                                                                                                        6
14. The length of hypotenuse of right ∆ exceeds the base by 2 cm & exceeds the length of altitude by 1cm. find area of right ∆.                                                                                                                    6
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